SOLID SHAFT PUMP W \
A

Commercial = 56.5 165 80 = _ 1035 = 1435
140"" F - Max Water Temp 37 g’ 12 l B5 o 4
S | | sy | A,
{ all ©) A
i St e Koo ey
S 55 TNl LS of 1) Z o
brass  Obronae O aluminum R — < %%
rods rods e 103 {232_0> 15 S| 123
. 175
N version
e | Q@ @) A s |
I/min  gpm  bar psi ebhp rpm lbs mm mm $
XW 1450rpm N version 24mm Solid Shaft
XWM1530N o 15 4 300 4350 12.0 1450 34 20 12.2 5 $1,428.22
XWM2128N o 2 [ 555 | 2800 4060|155 1450)| 2 20 16.6 B $1,428.22
XWM2623N o 26 6.87 250 3600 17.0 1450 34 20 19.8 1 $1,546.26
XW3025N o 30 7.92 250 3600 20.0 1450 34 22 19.8 1 $1,628.88
XW3028N o 30 7.92 280 4000 21.8 1450 34 22 19.8 1 $1,987.23
SPECIAL PARTS / KITS REPAIR KITS
AR2748 Rail Kit 1-1/4" (2 rails & 4 bolts) $32.13 AR2780 Valves 6 $156.20
AR2748H Rail Kit 2-1/2" (2 rails & 4 bolts) $90.84 AR2288 Pistons @ 20 (xwm) 3 $303.08
U-Bracket/Kit Rail Kit 1-1/2" (2 rails & 4 bolts) $135.89 AR2543 Pistons @ 22 (xw) 3 $302.18
AR2778 Viton Water Seals 920 $250.94 AR2278 Water Seals 20 xwm) 3 $192.89
Lo ol e e e G AR2782 Water Seals 220 W) 3 $155.44
AR2779 X,fgjnomavﬁ,e,iéggfpﬁf Guides) $241.48  AR2783 Water Seals 222 w) 3 $165.54
AR980069  Packing Extractor $181.98 AR2781 Oil Seals 6 $73.50
AR64516 0il (16 02) $15.80 AR2279 Piston Guides @20 xwm) 3 $138.07
AR2784 Piston Guides 320 xw) 3 $116.83
AR2785 Piston Guides @22 xw) 3 $142.78
AR43436 Hot Water Seals @ 20 3 $756.44
AR42961 Hot Water Seals @ 22 3 $837.13

61



SOLID SHAFT PUMP

309

301.5 7.5 247
H 56.5 165 80 — 103.5 143.5
Commercial 37 & 12 | 935 5 45
140° F - Max Water Temp ® ‘
3/4" F - Inlet Thread e - TR e Jzs fl‘lf%
3/8" F - Discharge Thread 9 Q_J_W =i @ £7-E =
32 oz - Oil Capaci N E |
oz - Oil Capacity . ; m{ - Kfff)\\}]]t i* fﬁ:@:g: ;
E - wn ¥ ;,; : ]—J @&%@ E @ i X
Q ~ - iyl [ A" & Q
L g e s o
gl mionafoit [ T o (TP
. : x
R 2 R, S
rods 103 42 15 183
175
N version
BORE CRANKSHAFT LIST
“
I/min gpm  bar psi ebhp rpm Ibs mm mm $
XWA 1750rpm N version 24mm Solid Shaft
XWAM4G40N o 15 4 275 4000 11.0 1750 34 20 10.0 6 $1,428.22
XWAMS55G40N o 21 5.5 | 275 |A000)| 150 1750)| 24 20 13.8 4 $1,428.22
XWAM7G40N o 255 7 275 4000 19.2 1750 34 20 17.2 2 $1,546.26
XWAM8G35N o 30 8 240 3500 19.2 1750 34 20 19.8 il $1,546.26
XWA9G30N o 34 9 200 3000 18.5 1750 34 22 19.8 1 $1,628.88
SPECIAL PARTS / KITS REPAIR KITS
AR2748 Rail Kit 1-1/4" (2 rails & 4 bolts) $32.13 AR2780 Valves 6 $156.20
AR2748H Rail Kit 2-1/2" (2 rails & 4 bolts) $90.84 AR2288 Pistons @ 20 xwam) 3 $303.08
U-Bracket/Kit  Rail Kit 1-1/2" (2 rails & 4 bolts) $135.89 AR2543 Pistons @ 22 (xwa) 3 $302.18
AR2778 Viton Water Seals 2 20 ' $250.94 AR2278 Water Seals @ 20 (XWAM) 3 $192.89
(used only w/ AR278‘|‘ R AR2782 Water Seals @20 oqwa) 3 $155.44
AR2779 Viton Water S 22
ool bl ARDES Pratom Guides) $241.48  AR2783 Water Seals 822 xwa) 3 $165.54
AR980069  Packing Extractor $181.98 AR2781 Oil Seals 6 $73.50
AR64516 0il (16 02) $15.80 AR2279 Piston Guides @20 (xwAm) 3 $138.07
AR2784 Piston Guides @ 20 xw) 3 $116.83
AR2785 Piston Guides @22 xwaA) 3 $142.78
AR43436 Hot Water Seals @ 20 3 $756.44
62 AR42961 Hot Water Seals @22 3 $837.13



SOLID SHAFT PUMP W \
A

309

301.5 7.5 247
H 56.5 165 80 — 103.5 143.5
Commercial _ = R T
140° F - Max Water Temp § 1ﬂl‘ o
3/4"F - Inlet Thread - = Was
3/8"F- I;i:char;eaThread 1 LT g i ‘l ‘gﬂﬂgf § « &%-‘L— ATA : ‘
32 o0z - Oil Capacit Rlof [Tt = | © L o
oz - Oil Capacity 2 m{ = K@@} =l [ fﬁf:%:%: ¢
5N\ :Fp; == |—J j@gg% =3 i S
; D A\ | i = N
;!E!E!i % sasTe g 15 = on
2l mionafori' |1 ] g (D
head  comnectimgr |29 30 g2 159
rods 103 42 15 183
175
N version
BORE CRANKSHAFT LIST
“
I/min  gpm  bar psi ebhp rpm Ibs mm mm $
XWT 550rpm N version 24mm Solid Shaft v
XWT2118N o 21 555 200 3000 11.0 500 34 28 19.8 1 $1,770.53
SPECIAL PARTS / KITS REPAIR KITS
AR2748 Rail Kit 1-1/4" (2 rails & 4 bolts) $32.13 AR2780 Valves 6 $156.20
AR2748H Rail Kit 2-1/2" (2 rails & 4 bolts) $90.84 AR1849 Pistons @ 28 3 $454.68
U-Bracket/Kit Rail Kit 1-1/2" (2 rails & 4 bolts) $135.89 AR1853 Water Seals @28 3 $309.84
AR64516 Qil (16 0z) $15.80 AR42708 Water Seals @ 28 (new) 3 $298.96
AR2781 Oil Seals 6 $73.50
AR2507 Piston Guides @28 3 $154.27
AR42650 Piston Guides @28 (new) 3 $289.42
AR43052 Hot Water Seals 3 $806.39

63



SOLID SHAFT PUMP

309

3015 75 247
. 56.5 165 80 - 103.5 143.5
Commercial 37 5 12 } 935 5_45
140° F - Max Water Temp 3
3/4" F - Inlet Thread " (o~ N | -
3/8" F - Discharge Thread Q w ;,7‘ o =<0|(1= | R
32 0z - Oil Capacity " E i Vﬁ§ﬂ |
AN\ R G === i1l s
T @ s g T k
= @ 9 Q Mmionafori ' [ | 1 f el
brass Obronze O aluminum 130 L@, g 12| | 159 |
head connecting- connecting- 103 42 15 183
rods rods 175
N version
BORE CRANKSHAFT LIST
“
I/min  gpm  bar psi  ebhp rpm lbs mm mm $
XWF 1000rpm N version 24mm Solid Shaft
XWF26.20N o 26 6.87 200 3000 13.7 1000 34 28 15 8 $1,770.53
XWF3018N o 30 7.92 200 3000 15.8 1000 34 28 17.2 2 8, 770,53
XWF3617N o 36 9.51 170 2500 16.3 1000 34 28 19.8 1 $1,770.53
SPECIAL PARTS / KITS REPAIR KITS
AR2748 Rail Kit 1-1/4" (2 rails & 4 bolts) $32.13 AR2780 Valves 6 $156.20
AR2748H Rail Kit 2-1/2" (2 rails & 4 bolts) $90.84 AR1849 Pistons @ 28 3 $454.68
U-Bracket/Kit Rail Kit 1-1/2" (2 rails & 4 bolts) $135.89 AR1853 Water Seals @28 3 $309.84
AR2036 Viton Water Seals @ 28 $312.41 AR42708 Water Seals @ 28 (new) 3 $298.96
AR64516 Oil (16 oz) $15.80 AR2781 Oil Seals 6 $73.50
AR2507 Piston Guides @28 3 $154.27
AR42650 Piston Guides @ 28 (new) 3 $289.42
AR43052 Hot Water Seals 3 $806.39

64



SOLID SHAFT PUMP W \
Al

309

301.5 7.5 247
. 56.5 165 80 o 103.5 143.5
Commercial 37 G 12 } 935 5 _45
140° F - Max Water Temp =
3/4"F - Inlet Thread - e g [ TR | | ©
3/8" F - Discharge Thread N i 7 =<0 [IE] | R
32 oz - Oil Capacity " r\%{ ST Vﬁ%ﬂ =
REEE == NSZYUMIIE: T
Tl o s A
Y i & fl 90 8 mowswd' [IL ] s
: 30 30 @
e N P [B]s ©
rods rods 175
N version
BORE CRANKSHAFT LIST
“
I/min  gpm  bar psi ebhp rpm |Ibs mm mm $
XWL 1450rpm N version 24mm Solid Shaft
XWL41.21N o 41 10.8 200 3000 22.2 1450 34 28 16.6 3 $1,935.78
XWL42.15N o 42 11.09 150 2200 16.7 1450 34 28 17.2 2 $1,770.53
XWL50.15N o 50 13.2 150 2200 19.9 1450 34 28 19.4 10 $1,935.78
XWL50.20NB o 50 13.2 200 3000 25.5 1450 34 28 194 10 $2,193.09
SPECIAL PARTS / KITS REPAIR KITS
AR2748 Rail Kit 1-1/4" (2 rails & 4 bolts) $32.13 AR2780 Valves 6 $156.20
AR2748H Rail Kit 2-1/2" (2 rails & 4 bolts) $90.84 AR1849 Pistons @ 28 3 $454.68
U-Bracket/Kit Rail Kit 1-1/2" (2 rails & 4 bolts) $135.89 AR1853 Water Seals @ 28 3 $309.84
AR2036 Viton Water Seals @ 28 $312.41 AR42708 Water Seals @ 28 (new) 3 $298.96
AR64516 Oil (16 0z) $15.80 AR2781 Oil Seals 6 $73.50
AR1944790 Grease Zerk for shaft - XWL Hyd $5.66 AR2507 Piston Guides 2 28 3 $154.27
Direct Drive AR42650 Piston Guides @28 (new) 3 $289.42
AR43052 Hot Water Seals 3 $806.39

65



. Commercial

140° F - Max Water Temp
3/4" F - Inlet Thread
3/8" F - Discharge Thread
32 oz - Oil Capacity

brass Oaluminum Obronze

head ::gg:ecting- ﬁgg;\ecting-
N version

(N BORE CRANKSHAFT LIST
mm mm $

I/min  gpm  bar psi ebhp
'XWLA 1750rpm N version 24mm Solid Shaft
XWLA13G15N (0] 49 13 100 1450 13.0
XWLA10G30N o 38 10 207 3000 20.6
XWLA11G30N o 42 11 207 3000 22.6

SPECIAL PARTS / KITS

AR2748 Rail Kit 1-1/4" (2 rails & 4 bolts)
AR2748H Rail Kit 2-1/2" (2 rails & 4 bolts)
U-Bracket/Kit Rail Kit 1-1/2" (2 rails & 4 bolts)
AR2036 Viton Water Seals @28
AR64516 Qil (16 0z)

66

177.5

SOLID SHAFT PUMP

7.5

80 103.5

5_45

@ 3/8"G(F)

a

72.5

753
\

T

4

147.5

41 [ 36

75

= '_J I\

T
lima|y

©
o
Kk == J‘)

IV

30

M 10 N° 4 fori

D 3/4"G(F)

D24

rpm  |bs

1750 34 28 17.2
1750 34 28 122
1750 34 28 13.8

REPAIR KITS

$32.13 AR2780
$90.84 AR1849
$135.89 AR1853

$312.41 AR42708
$15.80 AR2781
AR2507

AR42650

AR43052

2 $1,770.53
5 $1,935.78
4 $2,193.09
Valves
Pistons @ 28

Water Seals @28

Water Seals @28 (new)
Oil Seals

Piston Guides @28
Piston Guides @ 28 (new)
Hot Water Seals

w w w oo W w w o

$156.20
$454.68
$309.84
$298.96

$73.50
$154.27
$289.42
$806.39



SOLID SHAFT PUMP W \
A

301.5 7.5 247
56.5 165 80 T 103.5 143.5
CommerCiaI 37 o 12 l 935 5 45
140° F - Max Water Temp ) n N g i Y
1/2" F - Inlet Thread o | ERI—h %HHiLHHHf o | o NITATTATT
3/8" F - Discharge Thread el EE H ) %N% = *éjﬁﬁ @ E) ‘
32 oz - Oil Capacity wn| CB\ iy it R )
NEREY 'J NS | o iy -
| e REEC e==@lHlL " TN S
! ml =
T B g R o1
i@ 00 % 2 mioneafori ' [ ‘1 f j _‘qum
. 30 30 @12 1] 159 |
b o T lalls ®
rods 175
N version
BORE CRANKSHAFT LIST
“
I/min  gpm  bar psi ebhp rpm Ibs mm mm $

SXW 1450rpm N version 24mm Solid Shaft

SXW15.35 o 15 3.96 350 5100 15.0 1450 35 18 15 8 $1,923.97

SXW21.350 o 21 | 555 | S50 | 5100200 1450| 55 18 21 7 $1,923.97

SPECIAL PARTS / KITS REPAIR KITS

AR2748 Rail Kit 1-1/4" (2 rails & 4 bolts) $32.13 AR2871 Valves 6 $194.31
AR2748H Rail Kit 2-1/2" (2 rails & 4 bolts) $90.84 AR2548 Pistons 3 $261.53
U-Bracket/Kit Rail Kit 1-1/2" (2 rails & 4 bolts) $135.89 AR2874 Water Seals 3 $200.96
AR394280  Valve O-Ring $0.84 AR42708 Oil Seals 6 $298.96
AR1941040 Valve Fiber Ring $2.81 AR42120 Piston Guides 3 $160.68
AR64516 Oil (16 0z) $15.80 AR43437 Hot Water Seals 3 $816.83

67



SOLID SHAFT PUMP

309

] A B 3015 75 247
- 56.5 165 80 o 103.5 143.5
CommerCIal 37 g 12 l 935 5 45
140° F - Max Water Temp — ) g
1/2" F - Inlet Thread I giﬂgr B I
3/8" F - Discharge Thread Wl Tlel | EE H Vf\ﬂ ="
32 oz - Oil Capacity as| H R Bg@ﬂ TiH
aliPNe— ” e=—eflle] ®
45D Sy ety
§ > 645 1Y i A o
i!i!i!ﬁ @’; gl mionwaroit I T o
: 30] 30 g
brass  Qauminum 03 @] s
rods 175
N version

(\ ﬁ BORE CRANKSHAFT LIST
r p mm mm $

I/min  gpm  ba si  ebhp rpm lbs
SXWA 1750rpm N version 24mm Solid Shaft

SXWA4G50N © o 151 4 345 5000 13.7 1750 35 18 122 5 $1,923.97
SXWA55G50N o 20.8 55 345 5000 189 1750 35 18 17.2 2 o2l

SXWA7G50N = o 265 7 345 5000 24.0 1750 35 18 21 7 $1,923.97

SPECIAL PARTS / KITS REPAIR KITS

AR2748 Rail Kit 1-1/4” (2 rails & 4 bolts) $32.13  AR2871 Valves 6 $194.31
AR2748H  Rail Kit 2-1/2" (2 rails & 4 bolts) $90.84 AR2548 Pistons 3 $261.53
U-Bracket/Kit Rail Kit 1-1/2" (2 rails & 4 bolts) $135.89 AR2874 Water Seals 3 $200.96
AR394280  Valve O-Ring $0.84 AR42708 Oil Seals 6 $298.96
AR1941040 Valve Fiber Ring $2.81 AR42120 Piston Guides 3 $160.68
AR64516  Oil (16 02) $15.80 AR43437 Hot Water Seals 3 $816.83

68



